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Sudipta Bhowmick 4 hours ago

Homework ans-
R=C>P(3000)>B>Q(2000)>A
Thank you so much maam #* @

oy &R REPLY

Mohit.. 10 hours ago

Thank-you Madam, for today's Amazing class.. aa EL)]
And

My answer for today's homework is like-

RCPBQA. ..
Read more

o SR REPLY

Bhavika Goyal 14 minutes ago

Homework question :
RCPBQA
Where P (3000) and Q (2000)

Thank u mam (==

gy SR REPLY

AAYUSH SRIVASTAVA 8 hours ago

HOMEWORK QUESTION- R=C=P(RS 3000)=B=Q(RS 2000)=A
g &P REPLY

debasish chakraborty 10 hours ago

Homework : RCPBQA
Thank you mam

b R REPLY

! *'_r”r'* & o forthe amazing season
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ruma rajwar 10 hours ago

Homework ans: )B=

RCPBQA

4727 [

P-3000
Q-2000

oy &R REPLY

shubhangi mishra 4 hours ago

H.w ans. RCPBEQA
Thank you ma'am.

oh &R REPLY

Mabanita De 2 hours ago
H.W-RCPBQA.thank u ma'am.
oy GR REPLY

Nitika Gupta 2 hours ago

Homework
RCPBQOA

oy &R REPLY

Prakash Dwivedi 1 hour ago
RCPBOQA

o &R REPLY

Niteesh Kumar 10 hours ago
Rcpbqga

o &R REPLY
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There are six wallets A, B, C, P, Q and R, each containing different amount of money in it. Walle
has more money than wallet Q but less than wallet P. Only wallet R has more money than walle
C. Wallet Q does not has the least amount of money. The wallet contai@mghighest amount of

money has Rs3000, which is R4.000more than the wallet which ha2nd lowest amount of
money.

ARURh W EC,P,OIRRANIPT & xPpd Ay UAD; BIB) h BEFPOP Uh WQPHE
y K D& BH | nIMNWPPEORIE] Wh R¥O; Bh WP «k Déu B h WQOR4OP |
%00 ) NRRIHYD Pz @) & PUWhH WEZEB000A i} PUM WLEDZ Oy K DRAS

RApOioab O5400) B|K
E 9:30MW
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R > C >P(Rs.3000) >B >Q (Rs.2000) > A

=

o™

|

37. Which of the following wallet has the least amount of money?
INGNeUZ, | Of P rab URUE Of POP| 30 dgeU Rz
(@ A(d)B(c)C(d)Q(e)P

38. What may be the amount of money in wallet C?
Uh UGOEl NgQ@eU Ri b3l d R
(a) Rs2500(b) Rs2000(c) Rs3500(d) Rs2250(e) Rs2100

39. What may be the amount of money in wallet B, if it has R50less
than the wallet P20 h UBCErf4l NgDNGsU Ri b¥% gREx 61 33 b C
z O Pb |l 4 B

(a) Rs2500(b) Rs2750(c) Rs3500(d) Rs.3250(e) Rs2200

% N by

40. Which of the following is true regarding wallet R?h UR¥EP @R Of IN&NeUZ, I Of b |
Hex B

(a) Only wallet A has less money than wallet P (b) Wallet B has more money than wallet P
(c) Wallet P ha8rd highest amount of money (d) Wallet Q has more amount of money than
(e) none of these
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Ten people A, B, C, D, E, P, Q, R, S and T are sitting in two rows. Five people in each ro
facing each other. A, B, C, D and E are facing north. P, Q, R, S and T are facing south bt
necessarily in the same order. C sits third to the right of A. One who is sitting opposite to
sits iImmediate left of R. Only one person sitting between R and T. Only two people are
sitting between T and S. One who is sitting opposite to Q sits third to the left of B. But B |
not sitting at the extreme ends. Number of persons sitting to the left of P and number of
persons sitting to the Left of E is same.

I P gxR®B|C,D,E,PQRBTIi O x1 OO ] Texp. Ol Of Ofy UiA

0% | R@ % PION[¢T|R] A, B,C, ®BE}adyy” @}elg R P,Q, R, ® BT

O 1wl 3~ GRBUFN z Uk¥s NRBRgybdOO OfRi] C,AA Tix[P| | dbd|
O OBE¥ REJODgi PHEK QOB CGIROCTY, AO§ UU =«
gxRCI OTcBEaSHROA]HAOU Ti <l OB Rl Q% 6O UEGg g xR |
HT }J N OO B E;OIRE ] @By ud|[indaN\i & OOP¥RPguw ORE
gxRCI x1 3%y BWyé Oy s0@ @ OBE| ¢gxRCIR
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Ten people A, B,C, D, E, P, Q, R, Sand T are sitting in two rows. Five people in each ro\
facing each other. A, B, C, D and E are facing north. P, Q, R, S and T are facing south bt
necessarily in the same order. C sits third to the right of A. One who is sitting opposite to
sits Immediate left of R. Only one person sitting between R and T. Only two people are

sitting between T and S. One who is sitting opposite to Q sits third to the left of B. But B i

not sitting at the extreme ends. Number of persons sitting to the left of P and number of
persons sitting to the Left of E Is same.
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30. Who among the following sits diagonally 32. Who sits opposite to A?

opposite to S? / . A¥ eUO0O@gl > N O
INGReUZ, | Ofp(%aN s 6 BBIVOBg T p pQ )R d)T €S
OBE} RE

a)D b)A c¢)B d)C e)None ofthese E

31 Who among the following does not belong to the group?
INGNUG, | Ofp|%aN POB bl Pdl NRRR Q g
a)Q b)S ¢C dD eE l l l l l

-
p o
"
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33. How many persons sitting between D and C?
DO @ C% OEx rd N|gxFEi  OFl Rp

a) One

b) Two

c) Three

d) Four

e) None of these

34.Who sits second right of S?
SH Iix[plTBgH IN OF¥aN OB} Ri
a)P bQ ¢oR dS eT

P —
e ——
¢ ©
Pa—
-
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Seven persons A, B, C, D, E, F and G are sitting in a row facing north. They have different
ageslo, 12, 18, 20, 25, 26 and 32 but not necessarily in the same order. E sits third from
the extreme end of the row. Two persons sit between E and the one whose a8. 4 is
the youngest person and sits two places away from the one whose ad$.i8 is26 years
old and sits third to the left of F. D sits second to the right of F who is not an immediate
neighbourof G. F is the eldest person. G is elder than E but younger than D.

by § xRE&IB,C, D EFIGe ¥OwRBiaday a0 O REL Ry UAy UA
} F10,12,18,20,25,26© @323 G| nAANR b dOORFEO wRAE I wt A idy|
| dHRI|JOND BEHECO BRA P Zxil8U R@IO dIAY x ROBEAP ORI x RCI
R@ 18U ¥ag xiU) Wx RET HIT 41 8O K RJiR26U WaR® OF3O ) mjug b @]
HT OB BIQ, T odH T JOND B BB jxJA iG%E N%EDDI PafyiFp Op |
OTgx REK, BPDTRY| nDAA+ EIS
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Seven persons A, B, C, D, E, F and G are sitting in a row facing north. They have different
ageslo, 12, 18, 20, 25, 26 and 32 but not necessarily in the same order. E sits third from
the extreme end of the row. Two persons sit between E and the one whose a8. 4 is
the youngest person and sits two places away from the one whose ad$.i8 is26 years
old and sits third to the left of F. D sits second to the right of F who is not an immediate
neighbourof G. F is the eldest person. G is elder than E but younger than D.
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1. Df age s
D%yz x¢fD D D ROk
a)20b)12c)26d) 18e) 25

2. What is the sum of the ages of G and C?
GO B C¥yz xi¥y xiA Cx} 3
a)36b)48c)38d)42e) 28

3. The number of persons sits right of C is same as to the

left of ¢ lyxdwy " @ OBEXx) gxR
DDDBP Oy 8 ~ @ OBE| % R@®OYIN
a) The one whose age 26 b)E c¢) The one

whose age 120
dA ¢e)D




